Some equations and formulae that might or might not be useful:
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h=6.62 x10°*Js; /i = h/(2n)
c=3x108m/s; kg =1.38 x102 JK*
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me = 9.1 x10"* kg

my=1.67 x10*" kg; 1 amu = 1.66 x10' kg

Ho(&) = 1; Hi(8) = 28; Ha(&) = 48%-2;
H(€) = 883-12¢; here & =+/ax
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Yo0(0.4) =147 ; Y, ,(0.4)=(3/47'? coso;
Y1,i1(6’ ¢)=7F(3/87 )" sing e*;
Y,(0,4)=(5/167)"*(3c0s? 6 - 1);
Y,..(0,4)=F(15/87)"* cos@singe;
Y,.,(0,4)=(15/327)"*sin? ge**

sin2a = 2sina cosa ;
cos2a =cos’ a —sina :
2sina =1—c0s2a; 2¢0s% o =1+ CoS2a
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| might add more equations



